4/28/04

10" Gazebo [T
Engineering Plans e
(Second Tier and lower corbels
are optional on some models) _ ? = o _

(Wood floor sold separately)




@ FLOOR DECKING LAYOUT @\PLAN VIEW of FLOOR FRAMING
1 1

WOOD FLOOR PLAN




FOOTING LINE

(o CONCRETE SLAB LAYOUT

w SCALE: 1/2" = 1-0"



SHINGLES ... Supplied By Puichase

10~

7,
3g

_l

[T
2 g

N/

[TIIIE
- 2

| Y

94

9.,
7

ELEVATION

& FRONT
N

ROOF FINIAL
OPTIONAL SECOND TIER (ON SOME MODELS)

(8) ROOF PANELS
Attached with 6d nails @ 8" O.C.
along the rafters.

1"x4" (nominal) FASCIA
Attached with (7) 4d finish nails.

2"x 4" (nominal) RAFTERS
2"y D"y 7
2" x 4" CORBELS

Attached with (4)#10x 3 1/2
wood screws.

2" x 4" x 40 1/4" NOTCHED SILL PLATE
Attached with (2) #10 x 3 1/2" wood screws
@ each end & (2) #8 x 2 1/2" wood screws
from horizontal 2" x 2" x 39 1/4" to sill.

ATTACH WALL SECTIONS TO FLOOR
with (2) #8 x 2 1/2" wood screws
into predrilled holes @ each corner.



1 OPTIONAL SECOND TIER (ON SOME MODELS)
2"x 4" (nominal) RAFTERS

2x4 BLOCKING
o . Attach with (2) #8 x 3" wood screws each
a4 —— —— —d end (toed) - not included in kit.

7= PLYWOOD GUSSET
T 1"x4" (nominal) FASCIA

o IR

PRE-ASSEMBLED WALL PANEL

2" x 4" x 40 1/4" NOTCHED SILL PLATE
Attached with (2) #10 x 3 1/2" wood screws

@ each end & (2) #8 x 2 1/2" wood screws
! from horizontal 2" x 2" x 39 1/4" to sill.
74

X 2 % O 2"

l
/\DSIDE VIEW of ROOF FRAMING
1




OPTIONAL SECOND TIER (ON SOME MODELS)

(8) SIDED RIDGE BLOCK
(8) 5/8" PLYWOOD ROOF PANELS

2 x4 (nominal) RAFTER

PLYWOOD GUSSET
ALUMINUM DRIP EDGE
1 x4 (nominal) FASCIA

%
o :

1 ill i \
81175 SECURE RAFTERS with (4) #8 x 3" SCREWS

X Design Code 2000 IBC "
Roof Live load 20 psf 2 x2 x7
Roof Snow Load 35 psf
Floor Live Load 40 psf
Ground Snow Load 45 psf
Wind Speed & Exposure 98 MPH Exposure C
Seismic dosign category A xposu PRE-ASSEMBLED WALL PANEL
Seismic Site Class D
MATERIAL SPECIFICATIONS: / "
Floor Joists: #2 Eastern Softwood (Red Pine) 2 x4 x40 ,1 /4" NOTCHED %”‘L PLATE
Floor Decking: #2 Northern Species (Western Red Cedar) Attached with (2) #10 x 3 1/2" wood screws
Wall Framing: #2 Northern Species (Western Red Cedar) @ each end & (2) #8 x 2 1/2" wood screws
Roof Framing: #2 Northern Species (Western Red Cedar) from horizontal 2" x 2" x 39 1/4" to sill.
Roof Sheathing: 19/32" 24/0 Rated

i NOTES: "
1. This plan supplements assembly instructions 2 x2 x22
2. Foundation design and Gazebo anchorage to
be designed by others per on-site conditions and
local code requirements (frost depth, etc.)

WOOD FLOOR WITH ANCHOR REQ.
ﬁ APPROVED ANCHORS ﬁ SEE LOCAL BUILDING CODE
[ d
| A\ = =i e
Bl el | = |7 SECTION “1—].-*]"
B H E 7\\\\\:'“‘:'.:";




